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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc Programme 6th Semester Examination, 2021

ECOGGEC02T-EconoMmics (GE2)

INTRODUCTORY MACROECONOMICS

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfer T F0Z T YMo Q"Y/VW fac Fed1
Candidates should answer in their own words AT [NCS @R TR TG AT M
and adhere to the word limit as practicable. s R
1. Answer any six questions from the following: 2x6 =12

fafeiie @-CPIe =fF @ltes Ted wiss

(a) What is transfer income?
[ S F 2

(b) Distinguish between GDP and GNP.
GDP @3 GNP -&3 S A<y e ean

(c) Give the definition of Real National Income.
2 GIOR I IR 7€ |

(d) Define Human Development Index.
R T B IS WG |

(e) What do you mean by Consumption Function?
(19 SCFF IO B QI 9

(f) If the value of Marginal Propensity to Save (MPS) is 0.25 then find out the value
of Investment Multiplier.

Tl e 2T 2lRereld M 0.3 ¢ 2, O Rl @erwa e e et
(g) What do you mean by Marginal Propensity to Consume?
(SR 2feF eFeel Fe1ce F @I ?
(h) What is called M; and M,?
M, @R M, FICF 0T 2
(1) Define Bank Rate.
PIF ([HF TS 7G|
(j) What do you mean by Variable Reserve Ratio?
TSI T SGATS 00 F QI 2
(k) What is stagflation?
STFRITS T 9
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(I) What is demand inflation?

bifent Jfarerfere Jurfe < ¢

2. Answer any two questions from the following: 4x2 =28

fafeie @-coieA 7/ elcs Ten wies

(a) In measuring National Income, state the problems related to Census of Income
Method.

I T R, i A~ SRt T Bre <
(b) Mention the assumptions of multiplier theory.
QT O ST SCE |
(c) How does the Central Bank use Open Market Operation to control Credit?
CAIET] AR FRIFECR ARG SO (e TIF 3l forrael 3¢ 9
(d) Distinguish between Demand Pull and Cost Push Inflation.
pifenl @R RS @RISR s #i1d @

3. Answer any three questions from the following: 10x3 =30

Tl (e @- @i ot elvss Teg wiss

(a) Discuss any two methods of measuring National Income. 5+5
GRS S AT @- (A1 G0 Az SCeoal B |

(b) Explain how the equilibrium income is determined in the Simple Keynesian 10
Model.
SR (PRI NCSCE SIRA S (FHrei(F i =7, ot it S

(c) What do you mean by Multiplier? Explain how you can determine the value of 4+6

Investment Multiplier.
@I FIE 0o 2 RIS @edtwa M @ wTeIE N T3 1 F@th

(d) What are the functions of Money? Write a brief note on Non-Banking Financial 2+8
Intermediary.
R FEef F 2 -qF NLF aAfepE 7o @6 HREFS Tl @l

(e¢) What is called Commercial Bank? Describe the function of Commercial Bank. 2+8
3(feiferss iE DI = ¢ AT PCET PR SCEAD! S |

(f) What is called Cost-Push Inflation? Explain the causes of Cost-Push Inflation. 4+6

TS JurRe o o AT quRRen FiRee S v

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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